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1 Which of the following combination is responsible for female sex
determination ?
(1) One X chromosome of male and one X chromosome of female
(2) One X chromosome of male and one Y chromosome of female
(3) One Y chromosome of male and one Y chromosome of female

(4) One X chromosome of female and one Y chromosome of male

i Rt e Ry Be ¥ ¥ d-w 9w g B g seked ¥ 7
(1) &S @ UF X 49y ud WRw @ @ X dEs
) TEY W s X G TE AR @ UF Y SR
(3) Y&y & UH Y dagH UH AEw d qF Y qIE
(4) wEe @ TE X dyd Ud gE & Uh Y SR

2 Full form of nucleic acid DNA is -
(1) Deoxyribo Nucleic Acid
(2) Dual Nucleic Acid
(3) Developed Nucleic Acid
(4) Deoxy Nucleic Acid
§ . ow B oot E -
(1) Dot e s
2) g s s
@) Fawe s YR
@) It Yl s

3 Main propounders of 'Gestalt Theory of learniﬁg‘ are -
M Wertheimer, Koffka and Kohler
(2) Koffka, Thomdike and Kohler
 (3) Wertheimer, Koffka and Frued
(4) Wertheimer, Frued and Kohler

qw @ G % gaghEw b owads 4 -
(1) TR, BeH TE BEAC |
(2) W\EH, UFSEH Td BEE
(3) BRI, TEH Td WHS
(4) TR, BES, BEAL
03_C] 2 [Contd.::"
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Which of the following learning objective is not classified in the 'cognitive

~ domain’ ?
(1) Generalization (2) Translation
(3) Application (4) Pictorial depiction
P ¥ ¥ P Sevd N % WSMIH®E X @ Wl § ¢
(1) VHEFIE (2) &IIR &HCU
(3) WA HIA @) afm RE

Which one is not a prominent characteristics of 'creativity' ?
(1) Ability of transformation

(2) Emotionalized tendency to react in certain way

(3) Re - defining certain word or concept

(4) Di\}ergent production ability

P § ¥ B gomemaT @1 wgE fasver w6 ¥ 7
(1) ®HEE & 9Fd

) Ty afRafy & wiy fydw wiRfes wifsm & yas=
G) frd & @ oEumen & gt ®W @ Frear
@ S=fme IaET @ araar

Locate the correct range of "1.Q." of the backward children shown below-
(1) Idiot - 10 to 25

(2) Imbicile - 26 to 49

(3) Feeble minded - 50 to 59

(4) Dull and backward - 80 to 99 _

it ool % dfRa Tl B svi T wf ofm gfe = T SR
(1) ¥ gfg — 10 ¥ 25 -

() o7 ghg — 26§ 49

() @@ gfg — 50 ¥ 59

(4) Tog sm® — 80 ¥ 99




Indicate ‘G’ for growth and D' for development for each of the following
statements -

() A six month old baby shows sign of teething

(I A three month old baby begins to turn over and lie on its stomach
(I) An infant begins to focus his eyes on an object dangling before it
(IV) A thirteen year old boy begins to have hair on his face

Select the correct answer -

(h O-Db, -G dI)-G (IvV)-D

@) (-G )-D, (II)-D, (IV)-G

3y OH-Gan-Gg J-p, AV)-b

4@ O-G{aD-Db, WN-G AV)-G _
ﬁwmﬁﬁ%uﬁm%waﬁq@awﬁaﬁm&%m'@w
e o I ®ud & ME D R -

() Us B 9% & S@F F AN B e

M) & aE % D W I W BT W H AW e

() Tw 1y a0 S o goohdl a% W &MY Hhew @

(V) ©F e af % awd % Y | AW B oSE

el T B T B —

1 O-D AH-G D-G Iv)-D

2y -G d)Y-D, dM)-D, AV)-G

3¢ O-GIH-G {n-D, IV)-D

@ (@-G(-D, (-G (V)-G

Who are the two referred ‘humanist’ psychologists who have explained
human personality in terms of 'self and 'needs' theory ? .

(1) Maslow and Rogers
(2) Rogers and Skinner
(3) Cooley and Maslow
(4) Alport and Catell

T 3 wEhiT wreE TS 6N ¥ RN aFe =i 9 e
W U wrEsehaet & fhaid % oo uwx @y ¥ ¢

(1) *Ee g Qe
(2) U T wWR
() & w FEa
(4) SO uwd i

05_C]J 4 [Contd...
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Which one of the following is not the important characteristics of 'self
concept”?

(1) Self concept is organized

(2) Self concept is the specific goal

(3)  Self concept is multi faceted

(4) Self concept is stable _

Pt 3 9 ot — o W B Rt wewgt w8 %7
(1) orw — g9 JaReua oy &

(2) o - A i wey B ¥

() o — WA §F - SEE EE ¥

(@) o - THA WRT T ¥

The following Instructional strategies are mentioned in table 1 with their
learning. out - comes in table 2 -

Table - 1 Table - 2 .
(A) Visual aids (1) Creates the mental image of idea
(B) Use of analogy (I} Provides pre-requisite knowledge -
(C) Learner's active (I) To draw parallels between familiar
involvement  and new ideas "

(D) Advance organiser (IV) Provide tasks to perform
Match the correct set of order in above tables
1 A@-O, B-a, €)-av) O-dy
2) A-O, B)-IV), (-, D)-dDh

B W-@, By-am, ©-qV), (D)-1)

@ A)-a, ®-@, O-FV), O -
frey anfeer 1 H & 1 oRym wRiiEl & 9w aifaer 2 ¥ 99% - enildm
sty Sgew Rw g -

At - 1 Wicrt - 2 :
(A) T ouig wems () fedlt e @ umy wew v oiftew
(B) Wyl W wart (I) Fedll 99 & WeE & ¥ 94

AMETE TSR TEId B
(C) aftrmenal & ofisa () vs0 ¥ TRRE T F&69H o1 &
(D) R Hrew (V) Tl B & FregiRa @
Sa AR ot ¥ RY W wd w1 9 wW @ P Bt -
) A-O, ®)-1), €)-av), {)-dm |
@ @AW-O, B-av, ©)-Jam, @O)-a)y
3 A-@ G-3n, ©-a1v), @d)y-aj
@ A)-adn, @)-d, ©-av), {o)-amn

05_C] 5 [Contd...
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Foolish conformity to peer pressure is most likely to be motivated by -
(1) Safety need (2) Need for belongingness

(3) Self - Actua_lisation need (4) Achievement

givE & qae 4 qEae S B § 9 Tew smayawar @ simia
AT 7 |

(1) g @ Snayaeh (2) HUAGT H =Y

(3) oW TERE - IEARETT (4)  Suwhy

The drive - reduction theory of motivation is given by -~
(1) Hull (2) Freud |

(3) Maslow (4) None of the abové
M - gEes - W fAEl % WeRT § -

() =« | (2 wEs

¢) faw | @ T ¥ B T

Parents who wish to strengthen their children's achlevement motivation
should be advised to :

(1) Encourage children at an early age to hah_dle responsibility without
parental help. : '

(2) Tell their children that. failure in life brings suffering. -

(3) Warmly accept and praise their children regardless of whether they
- succeed or fail.

(4) Recognize that young children can't be expected to do things
successfully without parental help.

Ay aftrwes W ot Al O oueRy - SR @ FEE W ey

& ¥ wifw -

(1) Wﬁmﬁﬁmaﬁw&mﬁm%ﬁaﬁm
I 3g Wed & |

2) _amﬁﬁwqﬁswwm@aqﬁaﬁmmgamﬁ%
(3) TR TEE YT & UG ATH, I WHX BE T STHT FAIW FL |

@) wE Eer B B s stvrEs & gera ¥ R R e @
wwad qde Frdet T8 @ wmd |

05_CJ 6 [Contd...
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16

Which test focuses on information acquired through the informal learning
that goes on in life ?

(1) Personality {2) Achievement

(3) Atitude ' (4) Intelligence

e & & B - W whewr S few wiw T aw eveRE sfem
B U gEEel W) dfed ¥ 2

(1) =afFE e (2) Suwly wiem

G) sl whe @ e vdem

To measure the degree of learning that has taken place after a person has
been exposed to a specific learning experience, which test is appropriate?

(1) Achievement tests

(2) Aptitude tests

(3) Diagnostic. tests

(4) Test - Retest

T it aftrm egE weW #Y & ugan ol Re ®R aw gen
g 9 At ¥g P F ¥ @ - W wdew g ¥ 7

(1) Suwied wEw

@) afhgh we
(3) Tremms Tam
(4) wlew wd gaaheer

In operant conditioning, association between stimulus - response is on the
basis of - '

(1) Law of Effect

(2) Law of Contiguity

(3) Law of Exercise

(4) Law of Habit Formation

(1) waE @ fam
(2) wHTEW @&
(3) o= wm fraw
(4) Ed & e faw

05_C] 7 [Contd...




17 Concept of mental age was developed by -

(1) Stern (2) Wechsler

{3) Binet (4) Terman
Wmaﬁwm@nmﬁzﬁmﬁmqﬁwﬁmﬁm T T
(1 = 2) A

3) fE= 4) =

18 IQ of 'deal’ and 'dumb' can be tested by -
(1) Verbal intelligence test
(2) Non - verbal intelligence test
(3) Performance test
(4) Either (2) or (3)
T T AR @ gRewan @ TdE @ ¥ -
(1) s ghewar e @x
(2) orifes ghewmr Tlam
(3) Fofa g
(4) (2) q1gar (3)

19 What will be the IQ of a child having Mental age of 12 years and
Chronological age of 10 years ?

-r )y 125 @) 83

f‘_ G) 120 @ 110
T i (TaH AWied oy 12 a9 Ul Brrmie g lozrtsf% THD
gﬁgﬁ% M —

| (1) 125 Q) 83

G) 120 @ 110

20 The name of the theory advocating sudden solution to the problem is -

(1) Contiguity theory (2) Conditioning
(3) Operant learning (4) Insight theory
R e fodt o & arfve SwuE @ wedr & S 3
() ariemr R Q) o foar
(3) uhea sgfr oftrm R (4) @@ @ R
05_C] | 8 [Contd...




21  Extinction is the result of -

(I) Inhibitton (2) Lack of reinforcement
(3) Tension (4) Repression

frger @ TRom & -

(1) o=y (2) YIEET &I S

(3) T (4) <

22 Which is not appropriate regarding the learning ?
(1) Leaming is not affected by maturation
(2) Motivation facilitates learning
(3) Problem solving is highest level of learning

(4) Learning is change in behaviour
aftr % W § Sugwm W ¥ -

(1) o 9 aRueaar &1 gwE & gsar
) ofon § efem ¥ gRg oxh ¥

(3) W wMM AW @ Swaad wWXOE
4) oftrm ermERE ofiEdw g ¥

23 Meta - Cognition is the process based on -
(1) Self awareness regarding one's own actions or mental powers -
(2) Awareness of Multiple intelligence and manism
(3) Awareness of co-existence and sociability

(4) Potential of solving mathematical problems

A - B ol WS @ whemm R ¥ ¥ R w enafla B
T F -

() Tl & T o & oF wwkem e 5 ol =-wew
(2) wgomETElr gie g AEEE W
(3) WTEIARAE TE wmifedl & EEE
(4) TR THENS & wHeN weHa
65_C] 9 [Contd...
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Which one of the following is not the function of the endocrine glands

in adolescents ?

(1) Maintain chemical balance

(2j Affect growth and health

(3) Control mental and emotional life

(4) Control moral conduct

B ¥ ¥ A - v Pend ¥ SRR s s R @

T T 7

(1) IwEmEfem d9gad g @

) ofhgfs wd w@mem @« paRE &
(3jrn=rﬁﬁﬁq€rm€rmzﬁﬁm3m

@ e emae Frbm w@

Which one of the following is not used in an interactive video system?

(1) Video caseite
(2) Video disc
{3) System provided by an interface to microsoft

(4 All of the above

s ofafiparems Rl Reew & Bt A @ @ew mem w8 S 2

(1) Tafsar &ae
(2) R e
(3) TSGR Ward FHY
) sww @i

Computer acts as a teacher modes of the following

(1) Discovery mode (2) Simulation mode
(3) Tutorial mode (4) Drnll and practices
X Th Wew B aE DR ol § - |
(1) @ e (2) ATEO TN
(3) T womedt (4 oww T g

05 C1 10
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You want to select certain test for guidance and counselling to your students
for different activities -

Activities Set of tests
(A) For concurricular (I) Mental ability and aptitude
(B) For problemed children () Intelligence, aptitute and interest
(C) For case studies (Il1) Intelligence, aptitute, interest,

personality and adjustment
(D) For group preparing for  (IV) Personality
 Performing different task
Select the appropriate test for the above activities -
(1) -am, B)-av), €-O, dO)-dan
2y (A)-{0D, B)-{V), -1, O)-O
G) (A)-d), B)-av), (©)-dm), @)-d@)
@) (A)-(D, B)-(V), (O-®, ®)-(D
Fha TRRRET ¥ o B ¥ PR TRRRE ¥ Pt wme
g SugwR alEw w0 Ord § Tt F oo R wd wdeel @
TaT )
Wty whEel w wgad
(A) @ - weTR fea () AFfEe A wd srfhemar ade
(B) wwwm — e Iwl () ghg, sfhemn ud abirefa

% g e
(C) =¥ oregm am ghe, s, s, afae
Td gEEsE adEv

T TR B W=
S TaRe ¥ T ' wleen w wgemm g -
() (A-a4, B)-av), (-1, O)-{ID)
(2) (A)-am, B)-av), ©€)-dn, y-d)
3y (A)-dan, B)-av), ©-An, O-O
@) A-1), B)-av), ©)-@, O)-am)

Synchronous media of communication includes -

(1) Chat - (2) Video conferencing
{(3) Teleconferencing (4) All of the above
HUwor & JEwaG HEH ¥ - |

(1) e (2) TRy ®i=aRiT

(3) HRBITHRIT (4) v

05 _C}: - 11 [Contd...




29 Which statement does not depict the concept of pedagogy appropriately?

(1) Systematic application and scientific knowledge of teaching and
learning

(2) Science and art of teaching and learning
(3) Systematic science of deriving 'abstractions' and ‘generalisations’
(4) Endeavour of bringing pupils, teachers and technical means together.

Frer & 9 @-ar wem e smer & emuwon F@ aRie w9 @@ -
(1) f%T&maT&mrffawﬁstEﬁrm‘crﬁaaugﬁfa

(2) T wd aftrm @1 fem wd @

(3) "R TE A WY @ erafy e

(4) ol el G aeel gEEE B T @Y W e T

30 Specific learning disorders and their symtoms are given below -

1 II
(A) Disprexia (1)  Specific writing disorder
(B) Dyscallullia (I)  Specific arithmetic disorder
(C) Dyslexia (Il Disorder for reading, writing and

math ematical abilities
(D) Dysgraphia (IV) Special reading disorder
Which one is the right combination ?
) (A)-O, G-, ©€)-av), O)-JD
@) (A)-av), ® -, (©)-@m), D)-m)
G) (A)-m, ®B)-11), (C)-aAV), D)-)
(@) (A)-aV), (B)-(D), (C)-(I), D)-()
ﬁmﬁrﬁwﬁrﬁm@ﬁ@maﬁlﬂm@aﬂ%ﬁﬁwmanmﬁmaﬁﬁﬁﬁ
¥ -

1 I -
(A) fegifrmn O foret g=sh =iy
(B) Teehgphaar ) Rfyre Wiy afmy
(C) Temirmr () ®fire dew @ ey =fmy
©) Feafem av) fafne amm =Rmy

Wvﬁﬁﬁﬁ%m'ﬂﬁﬁwﬁmwgﬁq—
1) (A)-O, B)-(I), (C)-AV), (D)-(I)

()

(3)

(4)
05 C]

(4)-Av), B)-(1), (©)-UD, D)-()

(A) -, B)-(aD, (C)-aAV), D)-@)

(A)-(V), (B)-(), (C)-qI), D)- ()
iz

[Contd...
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31 An o-—particle is
| (1) hydrogen atom devoid of electron
(2) a helium isotope
(3) a doubly ionized helium atom
(4) a singly helium ion
T o-—®T T §
! (1) T R eEEe T
(2) dfwga & s TRATE
(3) s Trembm dfvaw gy
(4) THH ARG oA STH WA

32 Molecular weight of an oxide of nitrogen is 44. The number of electrons
in a molecule of this oxide is

1 1s (2) 22

(G) 23 (4 M
‘é RIS % SEES @ SR 44 ¥, 395 o] ¥ ToeE @ Wel ¥

: (1) 15 2 22

j (3) 23 (@) 44
> 33 The minimum number of unpaired electrons are present in the element

t having atomic number.

1y 6 @ 7

(3) 8 - @ 9
'% P o Reg T WA AR A ¥ ogiua e @ gen < §

| 1 6 | @2 7

(3) 8 4 9

34 Isotones A, B and C have mass numbers 30, 31 and 32 respectively. Atomic
number of B is 15. number of protons in A and C are :

(1) 14 and 15 ' (2) .14 and 16
G) 16 and 16 4) 16 and 14

TEFT A, B @ C & ¥ea ged #W 30, 31 4 32 ¥ t B @
] e 15 § 1 A Fa CF TN &) dem ¥ :

(1) 14 & 15 (2) 14 T 16
(3) 16 @y 16 (4) 16 qur 14

05_C} 13 [Contd...




35 Inert pair effect is shown by

(1) s-block elements 2

(3) d-block elements (4)

Miwma g ae @ iy ¥

(1) s-=A®| I (2)

(3) d-=Ate O 4
36 A metal that forms acidic oxide

(1) Zn @)

3y G 4

T U S orda eifedEs S 3

(1) Zn (2)

3) Cr (4)
37  Vitamin Bj, contains :

(1) Fe (2

(3} Cu (4)

R @, ¥ BT

(1) Fe 2)

3) Cu )
38  Shape of Ni(CO), is

(1) Tetrahedral 2y

(3) Octahedral 4)

Ni(CO), =t engpla &

(1) ogvewaE @)

(3) GERT (4
39  Which carbonyl is paramagnetic ?

(1) Ni(CO), 2)

(3) Fe(CO)s {4)

ITPEBIT HEAEA BA-G1 & P

(1) Ni(CO), @

(3) Fe(CO); @
05 _C] 14

p-block elements
f-block elements

Pk T
=t 9°

Co
Ni

Square planar
Linear

g

Cr(CO),
V(CO)s

Cr(CO),
V(CO)s

[Contd...
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42

43

44

Strongest metallic bond will be present in

(1) Fe (2) Mn
(3) Sc (4) Cr
T qimeTe tnfeass < SuRea g

(1) Fed# (2) Mn ™
(3) Sc¥ @4 Cr¥

Which ore is concentrated by froth floatation method ?

(1) Bauxite (2) Haematite

(3) Sulphide (4) Cryolite

A waw fafr 4 few o w1 W few wwr & 7
(1) sEHEe (2) Tefeme

(3) uFRRES @ wewEE
Aqueous solution of sodium sulphate will be

(1) neutral - (2) buffer

(3) acidic (4) basic
- |iftam wdhe % we fawga e

(1) SN (2) W

(3) ol @ i

In thyroid disorder the isotope that is used is

(1) 2%Na (2) 32p

(3) 60Cq 4) 1317

gty e § Rm gaenfe oo @ e S R, aw @
(1) 2%Na @ 3

(3) %Co 4 B

QOut of the follwoing which bond is of least strength
(1) Hydrogen bond (2) Ionic bond
(3) Covalent bond {4) Metallic bond
Fefafea & 4 @F-—w onew w9 @ 9k & %
(1) EEENE S Q) ok e

- (3) wEHdNE SIS (4) wifas sne

0s.C] | . I

[Contd...
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46

47

48

Which of the following anion is the weakest base ?

(1) CH0™ 2) NO;

G) F 4) CH,CO00™
Frefafes & & Fv-—w womT @ o7 ag ¥ 7
(1) GCH;O (2) NO;

G) F 4) CH,;C00™

Stable end product of 233U will be

(1) 206py (2) 234Th
(3) 2351y (4) 209R;
BU w ws sfew sawe &

(1) 206py (2) ¥Th
(3) 235y (4) 209Rm;

Which of the following is most unlikely to affect the rate of a chemical
reaction in general ?

(1) Size of the reaction vessel

(2) Temperature

(3) Concentration of the reactants

(4)  Concentration of the products
ﬁwﬁﬁ%ﬁﬁ@rﬁwwuwmﬁmmﬁﬁm%éﬂwﬁaﬂw
Y wH T ? - |

(1) ofafpm o= @1 ammR

(2) M '

() st @ awar

(4) SRl @ W

The order of a reaction is obtained from its
(1)  stoichiometric equation

(2) rate equation

(3) number of reactant molecules

(4) number of product molecules

foddt otffear & AR w @ w1 T T vy
(1) wikeEdd afeo §

(2) 1 glwmor ¥

() ERE el @ wen @

(4) S®E el @ dem 3§

05_CJ 16 [Contd...
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Which of the following reactions occuring in time scales shown is fastest?
(1) Pico second (2) Nano second
(3) Femto second (4) Milli second

T T T TR § g 8 ol sifwhrmel ¥ @ deaw
ol 7

(1) T davs @) T dzvs

(6) H= dovs @ it Swvs

—d|A -1
The rate of a reaction is described by d[t ]=1€[A][B]2 [C]3 (D] !

which of the following statement is not true. The rate of reaction will
increase on increasing the concentration of

hH A @ C
3y D (4) B
wmﬁﬁwmw%www%w%

“dd[tA] =k[A][BI’[C]’ [D]™ Pefifaa woet & & da—ar wdl =& ¥ ?

sl B 4T 93 AT AR P @ wiEE 9@ & W
M A @
3) D 4) B

The mechanism of the reaction P4+Q—= R is as follows :
K
P---1—->S(slow)

K
S+Q—2—>R (fast)

The rate equation and the order with respect to P and Q are given by the
set :

(1) K, [P, 1,0 2) K, [P0, 1
(G) K, [PlIQL 2, 0 @ K; [P 2,0
STHfshTT P+ Qo R M fpaifaly w0 v &

K
P—1 8 (=)

Ko |
S+Q—=—R (J) _
o FHIETT GO P g Q & g wife Frifea de 7T o @ o1 9 &

) K [P} 1,0 @) X [P 0, 1

(3) Kk, [P[Q], 2, 0 @ K; P4 2,0

05_C] 17 ' [Contd...
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52

54

The enthalpy or heat content of a compound is equal to its
(1) Heat of combustion

(2) Heat of solution

(3) Heat of formation

(4) Heat of neutralization

el M & IRl @ et e TR O ¥ s
(1) < %

(2) FrerT-wen %

(3) UHIT-FHH &

(4) TERFERE TN %

For a spontaneous Chemical reaction which of the following conditions
is incorrect ? '

(1) - It is accompanied by a decrease in free energy

(2) AG is negative

(3) AG 1is positive

(4) AH is less than TAS |
% @ NG et sl % fig Reafes ¥ 8 S whiey
ESEIG £ I

(1) sad g wel o A %

(2) AG TG BT €

(3) AG i@ € ¥

4) AH.EEEHWTAS@EHH@HT%

The entropy of all elements and compounds at absolute zero is expected
to be '

(1) maximum - (2) zero

(3) not determinable (4) not known

T g AW YT W qal ok e @ ol enfda ¥
(1) it @ I

(3) arFTEReT 4y s

05 (] 18 [Contd...
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35 for the oné step decomposition reaction CaCQ, —QZX—-)C30+C0 5 the
entropy change is '
() O (2) positive
(3) negative (4) not known

T = N A (T ) erqere st CaCO, ——A—'>CaO+C02
1y o (2) wT
() o ) o

36  Which of the following is the only factor in determining the feasibility
of a reaction ?

(1) AG (2) AH

(3) As | @ T |
wm%ﬁﬁﬁwﬁaﬁam%mﬁwﬁiﬁaﬁﬂ-
BT UH AN GRE T 7P

(1) AG 2) AH

G) AS . @ T

57 How many grams of glucose be dissolved to make one litre solution of
10% glucose ?

(1) 10 gm - (2) 180 gm

(3) 184 gm | (4) 18 gm o
10%Wwwﬁaﬁmm%m%%m@ﬁaﬁﬁ'_
A der w2 : : :
(1) 10 7w (2) 180 ™

() 184 7w @) 18 9m

S8 The molarity of a solution containing 4 gm NaOH in 250 ml of solution-

18 ’
(1) 0.05 | @) 1.0

3) 2.0 - @) 0.4

4 I NaOH & 250 Tl faoies & Ao oy 2

1) 0.05 ?) 1.0

G) 20 ) 0.4

05_CJ .19 _ : [Contd...
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61

62

Most acidic acid is

(1) CCLCOOH '(2) CHCLCOOH
(3) CH,CICOOH (4) CH,COOH
a9q ST B

(1) CCLCOOH (2) CHCI,COOH
(3) CH,CICOOH (4) CH;COOH

X-ray analysis of solid alkanes (C,q and above) indicates the presence of
(1) C-C bonds in a horizontal line

(2Z) C-C bonds in a zig-zag line

(3) alternate C-C bonds in vertical line

(4) C-C bonds in a ring
Cm%m%aﬁqﬁ%wxﬁﬂwﬁrsﬁw@fmﬁmﬁrm
o E ¢ __

() CC 59 tss W R Y s &

() C-Co4 uh W-4 W § ¥

(3) THENR C-C 9y gy ¥

4) C-C 99 Uz 95y e ¥

The chain initiating step in the halogenation reaction of alkanes with
different halogens is fastest in the case of

(1) F, @ L

(3) Cl 4) Br,
iﬁ%ﬁﬁ%%ﬁﬁﬁaﬂwﬁs{@mwﬁﬁw%@mwwﬁeﬁa@m% ?
(1) ¥, @ L

@ @) Br,

Which of the following is allyl group ?

frfifes & & e @ & w@w @1 w97 SR
() CH,=CH~ | (2) CH;-CH=CH, -

(). CH, =CH-CH, - @ CH,-C=CH,

f
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65

66

The number of alkenes possible with the molecular formula C5H,q is

(Iy 4 @) 6
(3} 5 4) 3
C5H)o ¥ W Qerit o wemr fwrd a1 2
1) 4 (2) 6

3y 5 (4) 8

Carbon tetrachloride is used as fire extinguisher under the trade name

(1) Pyrene (2) Perchloromethane

(3) perspex (4) percelene

FET TEEISS B s § W ¥ swEhr Ry T @ e o © 7
(1) wEd= | 2) R

(3) @) TR

The reaction of ethyl halide with aqueous caustic soda is an example of
(1) Nucleophilic substitution

(2) Electrophilic substitution

(3) | Elimination reaction

(4} Nucleophilic addition

W WSS W e Bifed wer @ fear Rewm sewww o7

0

@) TR TR

(3) fTadT sfufean

4) TS @

lodoform is mainly used as

(1) analgesic (2) anaesthetic
(3) antiseptic (4) antipyretic
SRR W gET Swan RRY wT ¥ P ¥ 7
(1) drewrd (2) gETTER®
() gRRE (4) amahrad
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When red hot copper wire is plunged in ethanol, we get

(1) a ketone _ (2) HCHO

(3) CH,;CHO () . (CHy),0
wmﬁwmaﬁqiﬁmﬁyﬁwwmﬁm% ?
1) @& e () HCHO

(3) CH;CHO 4 (CH;),0

Carboxylic acids on heating with P,Os give

(1) Ethers (2) Alcohols
(3) Carbonyl compounds (4) Anhydrides
FrETeafE over B P05 % W A B YT §IGT B
(1) ¥ | (2) UwniEia
3) @it dfe 4) Urergss
Electrolysis of sodium acetate gives

(1) ethane : (2) methane
(3) ethylene (4) ethyne
Hift TRz & dym-smuer ¥ = wwar T 7
1) wiw 2 =

G) el @ T

Acetic acid can be prepared by heating methyl cyanide with _

- (1) dilute NaOH solution

(2) dilute HCI solution

(3) Na and C,H,OH

4) P,0,
ﬂfﬁamﬁﬁmﬁnﬁmﬁ%ﬁmﬂsmuﬁmﬁw@@r&mm
AT & 7

(1) T NaOH fqwam

(2) ¥ HCl ferm

(3) Na @ C,H,0H

(4) P,0;

05_Cj o 22 [Contd...



71 Soaps are
(1) sodium salts of alcohols
(@) sodium salts of glycerol
(3) sodium salts of higher fatty acids
(4) sodium salts of alkanes
WA (Soap) w1 Aar ¥ ?
(1) Uepreicl &1 difvan waor
(2) Pawte @ Qfan qan
() TEar Tl owl w1 QR e
@) THN F DfeEm wEm

72 Reaction of benzene with acetyl chloride in the presence of anhydrons AICI,

gives
(1) Acetophenone | (2) benzaldehyde
(3) benzophenone (4) benzoyl chloride
ﬁvhhumcga?rwﬁaﬁﬁfé\?ﬁaﬁﬁmﬁamﬁﬁmmw
Mg E P
(1) T . (2) d~mfreess
G) ¥R @) AR ws

73 Alkynes add on hydrogen in the presence of Lindlar's catalyst to give
(1) cis-alkenes | " (2) trans-alkenes |
(3) alkanes (4) cycloalkanes
fiseme sdw @ swhehr ¥ et ¥ wEgw % @ a3
() R@ i ) e S
ON (4)  wrEEtwR

74 A]kgrjes react with cold dilute alkaline permanganate solution to give
(1) an alkanol (2) a cis-1, 2-diol
(3) a trans-1, 2-diol (4) an epoxide
Qﬁﬁaamav%agmﬁqumﬁwzﬁrM@rw%
(1) & qera 2) ww fow-1, 2emer
() T -1, 2-swEaltd (4) & qiFERs
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77

Alkynes react with ozone to form ozonides, which on hydrolysis with acids
give

(1} 1, 2-diketones

(2) 1, 3-diketones

(3) carbonyl compounds
(4} carboxylic acids

Qﬁlsﬁagﬁﬁﬂéﬂﬁﬁmaﬂﬁaaﬂ?ﬁmaﬁ% | 7% STeetir ot srereT
Il E-

(1) 1, 2-3Eas
2) 1, 3-3EHE
(3) wEivw diftrs
4) wEiEhe o

Benzene reacts with CHCl; in the presence of anhtydrous AICl; to give
(1) Dlphenyl

(2) Diphenylmethane

(3)  Triphenylmethane

(4) Triphenylchloromethane

é‘«?htrwamémcgﬁwﬁaﬁrﬁcmlﬂ?rﬁw%ww% ?
(1) =gt

(2) =EHFERE

(3)  eEEBFrEET

(4)  cEhEEREIRES

Which of the following sets of groups is mainly m- -directing ? |
(I) ~-COOH, -S0,0H, —-CHO

(2) -OH, -OR, -NH,

3) -OH, -CH,, ~NHCOCl,

(4) -SO,0H, -OH, -NH,
ﬁw%rf@aﬁﬁﬂqﬁmﬁﬁ—magaaa@a: mdsht & 7
(1) -COOH, ~-SO,0H, —-CHO

(2) -OH, -OR, ~NH,

() -OH, -CH;, -NHCOCI,

(4) —-SO,0H, -OH. -NH,
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78 Which of the following aromatic compounds is more reactive towards
electrophilic substitution ?

(1) Benzene (2) Toluene -

(3) Benzaldehyde (4) Benzonitrile

et S0 AR F & A R s § it
e T ?

(1) =i (2) g

(3) I=-foees ; (4) TR

79  Which of the following is not a polynuclear hydrocarbon ?

(1)  Anthracene (2) Naphthalene

(3) Mesilylene (4) Phenanthrene

Prafaflad § ¥ B-u1 g gEReET A8 ¥ 7

(1) TamE @) AR

(3) ufufmm (4) Tl
CuCl,

80 The reaction C4H, vapour + Air + HCl ———=CH;Cl is known

as

(1) Richter reaction

(2) Raschig process

(3) Reformatsky reaction

(4) Reimer-Tiemann reaction

Prefufan et frg 7@ & R & 2 CgH ami + @1g + HCI

CuCl
2 ,C H.Cl

(1) frorex afapan (Richter reaction)
(2) W WH (Raschig process)
(3) TrnrcmEn srfafopan (Reformatsky reaction)

(4) TH-dm atfaRFar (Reimer-Tiemann reaction)
05 C] 23 [Contd...




81  The products A and B in the reaction sequence .

cone, HNO3 S, +
C6 5 > A .
conc. H2804 HCl

(1) Nitrobenzene, aniline

(2) Nitrobenzene, phenylhydroxylamine

(3) Benzene sulphonic acid, benzene

(4) Nitrobenzene, azobenzene

Frerfefae ofifea orgem % A wen B @ & 2
YFE HNO, S, +

- A——— B
qr= H2S04 HCI

() -wBF I, hel

@ = I, SR
(3) I wewifrerw, A=l

(4) gl S, Aeeshe

CeHg

82  The widely used pain reliever “aspirin” is pre‘parecf by
(1) treating phenol with acetic anhydride
(2) reacting salicylic acid with methanol
(3) reacting salichic acid with acetic anhydride
(4) reacting phenol with sulphuric acid |
() Wt @ 0w temgEe & R @
(2) AR o w AT @ fear @
(Dﬁﬁﬁ%r%mwwﬂﬁﬁmﬂﬁm;ﬂgﬁm,m
(@) Wl W aegle o W fear ard

83  Which of the following medicine is not anti-biotic ?
(1)  Terramycin (2) Streptomycin
(3) Morphine (@) Penicillin
Frer & 3 - olwfy dheamitfr vy & 7
(1) = @ BwEde
(3) = @ el
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84 Nitration of benzoic acid gives the product

83

86

COOH

(1 2)
NO»
COOH

® @ NO2 @

CcOooH
@‘NOQ

COOH

@/NOQ
NO;

Figm o F TEIETI ¥ WE TG ¥

COOH
- @

NO2

COOH

NO>

@) @’ 02 @)
Enzymes are
(1) Proteins (2)
(3) Fatty acids 4)
TTETE B ®
(1) wEE" @
(3) T &= (4)

Example of a diamagnetic compound

(1) NO @
® 0 @
grgada i & SEET ¥

(1) NO (2)
(3) O, | “4)

05_C} 27

NG»

Z
o
e

Minerals
Oil

gt
CE

NO,
Cl,

NO,
Cl,
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39

20

Molecule with V-shape geometry

(1) BeCl, (2) HgCl,
(3) so, “4) Co,
V-3l e ey %

(1) BeCl, (2) HgCl,
3) S0, @ co,

Which of the following compounds exhibits intramol;:cu_lar hydrogen

bonding ?
(1) Phenol (2)  o-chlorophenol
(3) m—ch]ofophenol (4)  p-chlorophenol

SAYE TR I 9w i 3

(1) B 2) oﬂiﬁ'ﬁtﬁﬁa
() m-FARIERw | (4) p-FAREETT

Hybridization of iodine in ICl, is

(1) Sp (2) Sp?
(3) Sp? | (4) Spid
ICiz‘ﬁr'am‘ns&#a%’er% |

® s @ sp?
(3) sp @) Spid

Molecule with maximum dipole moment is

(1) NH, (2) NF,
3) co, # cH,
wifter faya ot awn oy 3 |
(1) NH3 _ 2) NF3
(3) CO2 (4) CI—I4

05_CJ 28
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Which of the following relation is not correct ?

1 ?L,"—h ) mvr-—-nh
0 T mv _ @) —2‘:'13_
' 2 _he —n

(3) me”= Y 4) E'hc

P % 4 d-w e T W F 7

(1) — - @) =
2 he : ' A
= — E=h'—
@) me" =7 @ -

Be_2+ is isoelectronic with ?

1) H @) Li*
() Nat (4 Mg
Be2t B ¥ frod wgdagite § 7

@) H @ Lt
(3) Nat @) Mg

Wilkinson's catalyst is used for

(1) Polymerization (2) Hydrogenation
(3) Oxdation (4) Halogenation

fafterae sare fo & o wgaa @

(1) TEEDIHM (2) TEEEHH

(3) ST (4) TESHIB

In the complex, Fe(CO),, the value of x is

(1 3 2 4
@) 3 “4) 6
Fe(CO),, ® x & W ¢

(1) 3 | (2) 4
3 5 . 4 6
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95 According to crystal field theory a ligand is -

(1) cation (2) molecule with orbital
(3) point charge - (4) afrion

fptem 43 Rgra & egER R ¥

(1) =R (2) ¥ WA 3

(3) R emy (4) =T

96  Which of the following is an organometallic comp.qund ?

(1) [Cr(C,0,)513~ (2) [Fe(CN)gJP~
(3) [PtCl3(C2H4)]3q “) [Ti(OC2H5)4].
Fraffes ¥ & P waies dm ¥ 2
(1) [C(C0P~ @) [Fe(CN)eJ*~
(3) [PtCl3(C2H4)]’q 4) [Ti(OC2H5)4-]

97  Which is not a fblock element ?

(1) Lu @ To
(3) Tm @ Pm
e & & @ f=ie B oA e L 7
(1) Lu @) Tc
G) Tm (4) Pm

98  Which of the following elements belongs to actinide series ?

(1) la | @ Gd
G) Lu ¢4) Th
frr # ¥ #F-w a9 wfeeme G @ 2 ¢
(1) La (2) Gd
G) Lu 4) Th
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In lanthanide ions (Lf‘+ ions) the highest value of magnetic moment (1 B)

is associated with the ions
(1) Gd3* jon (2) Nd*, P>* ions
(3) Dy, P2* ions @ L] ion
- 3+ . .
U e (L W)ﬁg@zﬁualqﬁ(pmzmw‘r&mnﬁs\m
£3

() Gd&* " @) Nd3*, p2* emdl #

(3) Dy*, Pn?;‘“ o o @ L2 EF

How many years will be taken by a radioactive substance to remain
-é-th of its original amount, if half life is 13 years ?

(1) 39 ) 48

{3) 26 @ 52

e Yot v B oorg 13 T ¥ 1w At v 9w F ad
L

(1) 39 : ) 48

-3y 26 4) 52

The rate of a reaction in a multistep reaction is governed by
(1) Fastest step '

(2) Equilibrium step

(3) Slowest step
(4) Any one of the steps of the reaction

ﬁs@fagqazﬁuaﬁ:ﬁmw'aﬂﬁaﬁwam%
(1) deEd @ BRI

(2) 9/ T8 E

(3) WEEH UE BRI

4) fed o ws ofuirn e E@
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For an exothermic reaction Reactants - Products + Energy. Which
of the following is a valid expression ? :

M Hposues > Hregotants

(2) AHreaction <0

3) AHmaction > 0O

4)  AH__ o0 I8 positive _
wmﬁﬁaﬂm_mem+w%%ﬁﬁmmﬁﬁﬁ
BT i Ay ¥ -

(1) Hm?: > Harﬁmr(a;

(2) AHypoe o < O

(3) AHgpe o >0

@)  AHgpp . wRTE ¥

Which of the following is a set of state functions

(1) Enthalpy, Internal energy, Entropy

(2) Enthalpy, Work, Heat absorbed or evolved

(3) Free energy, Enthalpy and work

(4) Internal energy, Pressure, heat absorbed or evolved

ﬁw&rﬁgaﬁaﬁﬁ—mﬁzeiﬁw4m=rm%' ?

(1) ool oiale =i, dng

@) TR, @, seife @ Prepfig gt

() I &=, e, wrf L
(4) e oo, T, AT @ Pl wwi

For an isobaric process (i.e. reaction proceeding at constant pressure), which
of the following is incorrect 7 o

(1) Ap=o0 @ AH=AE+PAV
() AH=q, | 4  AH=PAV .

Wﬂwﬁm(aahaﬁmvﬁﬁmwwmﬁﬁﬁ%)%ﬁm
ﬁnﬁiﬁaﬁﬁﬁ?—mm%? |

(1) Ap=0 (2)  AH=AE+PAV
() AH=q, (1)  AH=pAV
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105 Tce and water are at equilibrium at 273 K because

(1) AH>TAS (2) AH=TAS

(3) AH<TAS (4) AG is positive
% ot oA 273 K W wamERen § ¥, e -

(1) AH>TAS (2) AH=TAS

(3) AH<TAS (4) AG woTR B ©

106 The degree of dissociation of an electrolyte in a solution depends on all
of the following, except

(1) dilution (2) nature of solvent

(3) temperature (4) conductance of the solution

Rt & Fodt dg omzm @t fedew @ e few ¥ & R o feR
T& B ? |

(1) @ @ Rews R
(3) I (4) Faegs # <

107 The solution of ferric chioride is

(1) slightly acidic @) slightly alkaline
(3) neutral (4) amphoteric

¥H FES @ TaE e

(1) Tl oFd B ¥ (2) wobl @@ O B
(3) SaEN B R (@) Swampl e

108 The simplest aikane which exhibits chain isomerism has how many carbon

atoms ?
() 4 2 5
(3) 6 4) 3 |
T EEEAad VIR B O e Qebd ¥ feey HEA 9wy e
T ? |
(1) 4 ) 5
(3) 6 4 3
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109 Molecule, in which the internuclear distance between two carbon atoms
is longest is '

(1) CH, @) CH,
(3) CH, (4) CgH,
Frefefan et F i < waie fee & a9 t 7
(1) C,H (2) C,H,
(3) GCH, (4) CgHg

110 The simplest alkene exhibiting geometrical isomerism is

(1) propene 2) Il-butene

~{3) 2-butene (4) isobutylene
Wﬁ?ﬁ?ﬁﬁﬁwﬁmwﬁwtmmw% ?
(1) wrfT @ 1-

(G) 2=EN (4)' SR CHE T

111 Which of the following statements is wrong ?
(1) Conformational isomers of butane are easily interconvertibie
(2) Geometric isomers are easily interconverted by rotation
(3) A conformation of 1-butene is readily chénged to another

(4) A conformation of 2-butene is not readily changed to another

ﬁmﬁﬁﬁﬁ%aﬁﬁmmmw% ?

(3) I-E{&FTWQ%W@FWW@WﬁWW%I

(4) 2—%@%mmﬁ@ﬁﬁmmml
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Ethylene reacts with alkaline KMnO, to form

(Iy CH,0H - CHO | (2) CH,0H- (‘HZOH
(3) CH,OH - COOH (4 CH;-CH,0H
ol Tor @l KMnO, @ fear & =wan &

(1) CH,OH - CHO (2) CH,OH - CH,0H
(3) CH,OH - COOH (4) CH,-CH,0H

The name for C =C-C=C
! |

CHs CH;
(1) 2, 4-hexyne (2) Dipropyne
(3) 1, 4-dimethyldibutyne (4) 2, 4-hexadiyne

(!?, =C-C=C & W %
|

CH3 CH3
(1) 2, 4-&wFaET (2) SEATET
3) 1, 4-=Efueegesd (4) 2, 4-eAEEETET

Nltrobenzene on hesting with solid KOH glves a mixture of o- and

p—mtrophenols Tt is an example of
(1) an electrophilic addition reaction -

(22 a nucleophilic aromatic substitution reaction

-(3) . an electrophilic substitution reaction

(4) a nucleophilic addition reaction. -

ms@aﬁﬁﬂmaaKOH%mawmo-ampmsﬁq?mmmﬁm

T

(3),a.sﬁﬁﬁﬁﬁuﬁwwmmm%
A, Hﬁmﬁﬁtﬁﬂaﬁmww%
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The number of aromatic nitro compounds with the molecular formula
C7H7N02 are

1 3 2) 4

(3) 5 @ 10 |
C7HINO, R & fpae RAfs et g ¥ ?
(1 3 @ 4

G 5 4 10

Phenylhydrazine is prepared by the reduction of benzenediazonium chloride
with

(1)  sodium and ethanol (2) zinc and acetic acid

(3) stannous chloride and HCl  (4) alkaline glucose

éﬁﬁﬁmﬁﬁﬁwmmﬁmﬁwmﬁw%ﬁmﬁﬁm%?
() «fRwm qon wdefg (2) oo am wdiftes e
(3) &g TGS FA HCI 4 alg e

Nitration of acetanilide gives mainly

(1)  p-nitroaniline (2) o-nitroaniline
(3)  p-nitroacetanilide (4) o-nitroacetanilide
Qsﬂ?&ﬁﬂ@%ﬁmwa@mmw% ?

(1)  p-EaFrE @) o it

() p-EIUHfERe (4)  o-mEEdretPrEe

What is A and B in reaction ?

C.H.NH ————-_.>NaN02 A H,0' B4N
5 +
© 2 The e A 9 2

(1)  benzenediazonium chloride, benzene
(2}  benzyl chloride, benzene

(3) benzyl chioride, benzyl alcohol

(4) benzenediazonium chloride, phenol

CHNH——-———--;N OZ.AHO*‘BN
- +
© T THEL e A 507 2

WW&AHWBW&T:W%?
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119 Cannizaro reaction is given by
(1) aldehydes containing o —hydrogens
(2) aldehydes not containing o —hydrogens
(3) a ketone having o —hydrogen atoms
(4) ketones not having o —hydrogens

HEm aftifpar 3% O 9fte ww AW ¥ O?
(1) o -EEEeE IR UirseEs

@) A tfeens Rl q-sRSFE T @O
()  o-FEEEH TR BET

@) o-TEEeE W HBEHA

120 Aldol condensation is the reaction of
(1) acetaldehyde and KOH
(2) formaldehyde and 10% NaOH
(3) formaldehyde and HCN

(4) acetone and chloroform

tretd du ofhiee @9 SRl § S

(1) uuidfieems qw KOH fwow fram & #
() wHReEEs T 10% NaOH fimam &td ¥
() wiifeeEs o HON fear & &

(4) T@dm ww CHCL, fer @ ¥

121 Which of the following carbonyl compounds exhibits keto-enol isomerism
to an appreciable extent ?

(1) acetone (2) acetylacetone

(3) acetaldehyde (4) acetic ester

frfRad FEitm DR § gied W (appreciable extent) T8 HIE-SH
FuTEEEEl B qeh &7

(1) e (2) UERewERH
(3) TugeleEEs (4) UEIH TR,
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124.

Acetone and acetaldehyde are readily distinguished by their reaction with
(1) lodine and alkali

(2) 2, 4-dinitrophenylhydrazine

(3) Tollen's reagent

(4) Chlorine and alkali

%@awamﬂﬁzﬁﬁmsgﬁwéﬁrﬁam%%@ﬁmm%
(1) SEEM J9r & ¥ g

(2) 2, 4-sEEEGiNE BT % W@y

(3) < s & i

) FET T ar ¥ Wi

The process of converting an optically active compound into the optically
inactive compound is known as

(1) resolution
(2) inversion
(3) recemisation

(4) asymmetric synthesis

meﬁmﬁﬁmﬁwﬁaﬁhmﬁ%maﬁm%
(1) Trawm

(2) ufaee
(B IydreTe

(4) omERE gy

- Sugar is present in the fruits in the from of

(1) starch
(2) fructose
(3}  cellulose

(4) glucose
Bl A SaRad wdba w wy X

(1) =

) wEEw
(3) e
(4) T
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125 Which one of the following is most stable ?

@
(1) CH,;-CH,

@
(2) CH,-CH-CH,4

®
(3) cH,-CH,-CH, -CH,

@
CH,

Prafafag ¥ § &9 @ waifw =g ¥ 7
!GB
(1) CH,-CH,

®
(2) CH,-CH-CH;

D
(4) CH,-C-CH,

|
CH,

126 If two isomers are mirror image of each other, they are known as
(1) Enantiomers
(2) Rotational isomers
3) Diaétereoisomers

(4) Geometrical isomers -

& Tl S g ¥ o e ¥ s ¥
(1) wdor wRlE (o) X
@) b gEmEEE

@) onfufid (sERATE) e

@) vl @
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The correct name of the following is

COOH :
H—————0H
HOQ————H
COOH

(1) [2R, 3S] — Tartaric acid
(2) [2R, 3R] ~ Tartaric acid
(3) [2S, 38] — Tartaric acid
(4) [3R, 28} — Tartaric acid
= b @ gl w3

COOH
H—<+1—0OH

HO H
COOH

(1) [2R, 3] - <’R® or

(2) [2R, 3R] - TR& ora

(3) [28, 38] - Wfw am

4 [3R, 28] — w’f@® s

The cell employed for ultra-violet region is made of

(1) Glass (Z) AQuartz

(3) NaCl 4) AgCl

T & N vy W 90 @ ¥

(1) @@ @& (2) TS @

(3) wRem wREs @ @ R wEs &

In the first order reaction, concentration of the product with time
(1) increases (2) decreases

(3) first increases than decreases (4) remains constant

uwaﬁﬁmﬁﬁmﬁmﬁmw%ma
(1) =& (2) ==t
(3) =R g Ry uuh (@) fex wh
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130 Rate of chemical reaction increases with the increase of 10°C in temperature
because

(1) number of collision between molecules increases

(2) wvelocity of activated molecules increases

(3) activation energy increases

(4) ratio of activated molecules increases : _

am ¥ 10°C & ghe wA W wabeE sl @ 3 sed e
(1) mgaﬁ%nwzmﬁﬁwww% |

) uhega ewEl & fy 98 e ¥ |

() ufegw el 9E W ¥

(4) whega empel B oUW I WA @

131 The active species in Tollen's reagent is

() Cut
@ [Cu(NH;),]*
(3) Ag'

() [Ag(NHy),*
<t ofwds § ahea el & ¥

(1) Cu”
(2) [CU(NH3)2]+
() Ag*

@) [Ag(NH3),]

132 The number of optical isomers. in lactic acid

1 3 @ 2
@) 5 @ 4
A on F v TREER @ pw gem ¥
I @ 2
@) 5 @ 4
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The correct name for
CH3
- /(IZH'CHg
CICHy»" “NCH;-CH;
(1) [Z]-1, 2-dichloro-3 -ethyl-4-methyl-2-pentene
) [E]-1, 2-dichloro-3-ethyl-4-methyl-2-pentene
(3) [Z]-3-isopropyl-2-pentene
4 [Z)-, 1—dichloro-3—ethyl-4-methyl-2—peﬁtene
T & oa® am %
CHj
A - CH-CHj
CICH,~” \CH,-CH;
(N [2]-1, 2-=Rw-3-ufe-4-SRm-2- <
Q) [E]-1, 2-eraari-3-gf-4- Ym0+
() [Z]-3-seeimifir- 2= |

@ [Z)1, 1-<EwR)-3-uRe-4-A R

In carbonyl compounds Ni(CQO),, Fe(CO); and Cr(CO)g the hybridisation
state of central metal atom is respectively

(1)  d?sp3, dsp3, dsp? (2)  sp’.dsp’, d2sp3

(3) sp3, sp3d, sp3d? (4) dsp?, dsp3, d2sp3

FEIt G Ni(CO),, Fe(CO) @ Cr(CO)s & ity urg ooy o
HHIOT ST U ¥ |

(1) d?sp3, dsp3, dsp? (2) sp3dsp?, d2sp3

(3) sp’, sp3d, sp3d? (4) dsp? dsp3, d2sp’

How many ions are produced from [CO(NH3)501]C12

(1 2 () 3
(3) 4 @ 5
[CO(NH,)sCIICl, & Road s @iy ?

O @ 3
(3) 4 4 5
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Which is not an inorganic polymer ?
(1) Mica : (2) Silicone

(3) Ceramics (4) Buna-S

e ¥ ¥ BT GeNbe agas T8 8 7
(1) wEH @) Rrles
(3) Tt - @ -

Organometallic compounds used in preservation of wood are of

(1) Al () Li
(3) ©Sn 4) Hg
aﬁ%ﬁwﬁﬁw%%mmﬁﬁmm@%%
1 Al @ L

(@) Sn @ Hg

Element 107 has been made by the following reaction :

2B, + 34M 767 Uy +20n where M is
M cr 2) Fe
3 Co . 4) Ni

e 107aﬁﬁwa{ﬁqﬁmmw1m% |
209]3 + 24M“>12871 Uns +2})n_ 'CIE"[J RAY M%
H Cr (2) Fe

3) Co N @ Ni

The bond order of the N-O bonds in NO, is

n 2 - | ) 1
G) 15 @ 2.5
NO, ¥ N-O i & % (bond order) ¥l
H 2 2 1

S (3) L5 @) 2.5
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140 The solution becomes blue by addin'g copper to a solution of AgNO;
because -

(1) Ag® ions are oxidised
(2) Ag" ions are reduced

(3) Copper is reduced

(4) Cu?* ions are oxidised

AgNO3%ﬁlﬁWﬁWﬁﬁﬁWﬁﬁﬂﬁ:ﬂWﬁW%mﬂﬁ
(1) Ag* amw =1 sl @

2) Ag* T @ SwEET dar ¥

() Cu %1 sgags &9

4 Cu® @ e BT ¥

141 Which of the following laws of thermodynamics is used for the calculation
of absolute entropy of a substance ?

( 1) Zeroth lavs {2) TFirst law

(3) Second law (4) Third law :
W%ﬁ%ﬁhﬁﬁﬂﬁ—ﬁ%%&aﬁﬁﬁamﬂ%
TFT & ¥ yged @y &7

(1) s fram ‘ (2) wam frm

) T fam @) T fem
142 The units of entrupy are o

(1) Cal-degree (2) Cal mol-! K-

() KJ/mol (4 KCal/mol

T & W i

(1) FER-fah 2 F Al K-

G) Kimm @) Frer Ser/em
143 Which is resp.onsible for damaging blood ?

1 Ca - @) Mg

(3) As (4) Pb

T B JHAN qgEm &

(1) Ca @ Mg

()  As @ b
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144 Among the following, greenhouse gas is

(1) Methane " (2) Hydrogen sulphide
(3) Sulphur di-oxide (4) Nitrogen
frffag § § Meew A9 ¥

(1) e (2) TEIST WEHIEE
(3) W SRS @) e

145 Which of the following gas is not responsible for stratospheric ozone
depletion ?

(1) CFC-115 (2) Halon-1211
(3) Carbon monoxide (4) Nitric oxide

P H ¥ AR-w fg, oleim WA % o g sOEE a8 ¥ 7
(1) CFC-115 (2) FWE-1211

G) wET s 4) TERw eifrEEs

146 The approximate region of absorption for n—m  transition is
(1) 200 um (2) 190 nm
(3) 175 nm (4) 150 nm

n—n" WET ¥ OTESHNT W A BT § AT
(1) 200 nm (2) 190 nm
(3) 175 nm : (4 150 nm

147 The hydrogen bonded —OH group has a characteristic IR spectrum band
in the region

(1) 3650 — 3590 cm™! (2) 3400 — 3200 cm!
(3) 3000 — 2500 cm™! (4) 3500 - 3200 cm™!

TEe eafyg ~0H g IR Waga ¥ B 43 ¥ ww e ¥ (09)
¥

(1) 3650 — 3590 cm™ (2) 3400 - 3200 cm!
(3) 3000 — 2500 cm~! (4) 3500 - 3200 cm!
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148 Benzaldehyde reacts with acetaldehyde in the presence of dilute alkali to
give
(1) CegHsCH = CH,
(2) CgHs;—CH = CH-CH,
(3) CgHs—CH = CH - CHO
(4) CgHs—CH = CH- CH,0H
TEeRT AUl UKie-Ufwesgs W a7 @R @ IuRAa d R @ w=n
G S
(1) CH;CH = CH,
(2) Ce¢Hs;—CH = CH-CH,
(3) CgHs—CH = CH-CHO
(4) C¢Hs;—CH = CH-CH,0H

149 Which of the following electrophilic substitution reactions is fastest ?
(1) Nitration of chlorobenzene
(2) Nitration of benzene
(3) Nitration of toluene
(4) Nitration of benzoic acid

Frafafas saegqedl afreamet ¥ @9 ged ga & ¥ ?
(1) FAREIT & BB

(2) SN @ TELE

(3) T W TEZIB

(4) TTRIETT @B AELB

. CHz _CHO
Hc” HC CHO
150 I + I —
HC% CH> CHy
) above reaction is a _
; ' (1) Polymerisation (2) Substitution
;_'_. {(3) Condensation (4) Cycloaddition
; - 2 CHy CHO
: Hc” HC CHO
U e
HCXx CH, CH,
} e oifufea &
: (1) B (2) i
3) "= @) oHE ITHS

T an Lt e
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